MARK PRODUCTION COMPANY
1108 SIMONS BUILDING

CURTIS W. MEWBOURNE PRESIDENT

March 10, 1971

DALLAS, TEXAS 75201

748-0388 AREA CODE 214

63 —

Mr. A. L. Porter, Jr.
Secretary-Director
New Mexico Oil Conservation Commission
P. O. Box 2088

Santa Fe, New Mexico

Re: Administrative Approval to Comingle

D-K Field

Mark Production Company Conoco-Federal Lease (#13939) W/2 SE/4, Sec. 30, T20S, R39E

Lea County, New Mexico

NM-079540

Dear Sir:

Mark Production Company requests administrative approval of an exception to Rule 303 in order to comingle commonly owned production from two wells on the same lease producing from separate geological horizons. The subject lease consists of 80 acres and contains two wells, the #1, producing from the Abo, and the #2, recently completed in the Blinebry. We request approval to produce the commonly owned wells into the same battery and allocate production and allowables based upon well tests. The battery is properly constructed in order to test each well separately. In this regard, you will find the following data:

- 1. Run statement from purchaser detailing oil gravity and price.
- 2. Schematic diagram of tank battery installation.
- 3. Plat showing location of wells on subject lease.
- 4. Completion report on well #2.

Abo production was commenced in August, 1970 and has produced 15,779 barrels during the last seven months. Blinebry production is expected to be about 900 barrels per month.

Mr. A. L. Porter, Jr. March 10, 1971
Page 2

Production from the Abo zone has a gravity averaging 36.7° API and markets for \$3.49 as shown on the attached schedule. The gravity of the Blinebry zone in the #2 well has the identical gravity of 36.7° API and will market for the same value of \$3.49. The commercial value of the comingled production will be exactly that of the sum of the values of the production from each common source of supply.

Very truly yours,

Curtis W. Mewbourne

CWM/bw Enclosures V LEASE

CONCCO-FE DERAL

JAN. 1971



PRODUCER MARK PRIDICTION OF 11CE SIMONS BLDG DALLAS TEXAS 75201

STATEMENT OF CRUDE OIL RUN CEEF# 568

GROSS VALUE		MARKETING			TAX	NET BARRELS	NET VALUE
7,131.44		204.30		4	67.22	2,042.93	6,459.9
DATE	TANK NO.	TICKET NO.	DEL. EHIR	y GRAV.	PRICE	NET BARRELS	GROSS VALUE
1 5	42070	€5284€	125 1	36.3	3.4800	470.97	1,638.98
1 c	42065	227435	125 1	36.6	3.4800	472.24	1,643.40
1 13	42070	650300	125 3	27.1	3.50(0	158.87	556.05
1 21	42070	175492	125 1	. 38.0	3.52 CC	471.31	1,659.01
1 26	42065	227335	125 1	36.0	3.48CC	158.16	550.40
1 20	42065	22733€	125 ]	36.0	3.4800	158.15	550.36
1 30	42065	307655	125 1	36.8	3.4800	153.23	533.24
STATE	cobe cs	TAX C	DE 1			2,042.93	7,131.44
	·						
	,						
	ENTRY CODES: 1 -	DI CHIAD DIR.	2 - ESTIMATE	D. BUN	3 - DEBIT CORE	SCHOOL SCHOOL	T CONTESTION
木		- WASH OIL SOLD		IL RECOVERED	3 - DEBIT CORK	ECTION 4 - CRED	IT CORRECTION

FORM # 0XY2 - 20054

## Someonine Dagway On Their Barrey

Marie Court may be They have a Strait Liets Court H

		All distances n	oust be from the out	er boundaries of	the Section.							
Operator MARK	PRODUCTION	DERAL		Well No.								
Unit Letter H O!!	Section 30	Township 20	-S Rang	e 39-E	County LE	EA .						
Actual Footage Location of Well:  660												
Ground Level Elev. 3558	Frogueing Fer	mation BO	Pool	D-K		Dedi	cated Acreage: 40					
1. Outline the acreage dedicated to the subject well by colored pencil or hachure marks on the plat below.												
2. If more than one lease is dedicated to the well, outline each and identify the ownership thereof (both as to working interest and royalty).												
3. If more than one lease of different ownership is dedicated to the well, have the interests of all owners been consolidated by communitization, unitization, force-pooling. etc?												
Yes No If answer is "yes," type of consolidation												
If answer is "no," list the owners and tract descriptions which have actually been consolidated. (Use reverse side of this form if necessary.)												
No allowable will be assigned to the well until all interests have been consolidated (by communitization, unitization, forced-pooling, or otherwise) or until a non-standard unit, eliminating such interests, has been approved by the Commission.												
	i i			I		CE	RTIFICATION					
	1	2.	1.	 			y that the information con-					
₹	•	TEXAS CRUE	-∳-				s true and complete to the wledge and belief.					
	· - +			   		Curtis W.  Position  President	Mewbourne					
12 <sup>-3</sup>	1			,   		Company	uction Company					
TEXAS CRUD	i	·		[ [ ]		Date November	25, 1970					
	l   	M	ARK PROD.			•	fy that the well location					
	)   	"cc	onoco - fed."	[ ]		notes of actua	I surveys made by me or vision, and that the same					
	 		40 - ACRES	 		is true and c knowledge and	orrect to the best of my belief.					
			RK PROD	MARK								
-	! !		ONOCOTED"	<sup>11</sup> WILSHIRE	i !	Date Surveyed NOVEMBER	23, 1970					
	 		ACCOUNTY OF THE PARTY OF THE PA	40-ACR	ES.	Registered Profe and/& Land Surv	Timenum.					
FINE TO PERSON	<u> </u>					MAX A SCHU Certificate No.	MANN JR ISIO					
0 330 660 1	90 1320 1650 198	0 2310 2640	2000 1500	1000 5	00 <b>0</b>							

29. 31. PERFORATION RECORD (Interval, size and number)

DATE FIRST PRODUCTION PRODUCTION METHOD (Flowing, gas lift, pumping -- size and type of pump) WELL STATUS (Producing or shut-in) Pumping - American 228 3-6-71 Producing DATE OF TEST HOURS TESTED CHOKE SIZE PROD'N. POR OIL .- BEL. GAS - MCF. WATER- - BEL. GAS-OIL RATIO TEST PERIOD 3 - 9 - 7124 hrs 36 7.56 15 CALCULATED 24-HOUR RATE GAS-- MCF. WATER - BBL. OIL GRAVITY-ATT (CORE.) 36.7º API 7.56 15 34. DISPOSITION OF GAS (Sold, used for fuel, vented, etc.) TEST WITNESSED BY W. H. Cravey 35. LIST OF ATTACHMENES

Acoustic Velocity, Deviation Record,

SIGNED ACK

36. I hereby certify that/the foregolyg and attached information : complete and correct as determined from all available records

\*(See Instructions and Spaces for Additional Duta on Reverse Side)

TITLE Assistant Secretary

DATH 3-9-71